(BIESHE | EMNEORER <AEIED> (T3 ~5FEF)

ZIBSCHLB=THS%ES3 233.79 6,170 70.7
BB HLA=THSGS%E4 234.23 6,180 70.8
ZIBSCLB=THG%ES 234.07 6,180 70.8
ZEECHAR=THS&G 233.59 6,170 70.6
BIRSCLB=THGSE7 234.27 6,180 70.8
4 |BESCH5AZTHSES 234.00 6,180 70.7
A |2ES<C5A=THESEO 269.72| 6,900 81.5
O |&Ex<5>8=TH5EI 261.97| 6,440 79.2
BIBSCHLB=THGSEI 234.10 5,990 70.8
AIESCHLBAZTHSEIS 234.21 5,880 70.8
ZIBSCHLB=THSEI4 233.12 5,780 70.5
ZESCLAB=THGEIS 231.68 5,930 70.0
BIBSCHLB=THGEI6 234.23 6,000 70.8
L |BEECHA-THIE 353.64 7,960 | B - M 106.9
I 2BS<C56—THI6ES 208.97 5,560 63.2
T BT HA—THI6%4 208.56 5,550 63.0
ZEE < E—THI6EIS 208.95 5,560 63.2
AES<HA—TH7&2 274.00 /7,340 82.8
AES<LB—THI4ES 233.97 6,150 | ik 70.7
BIBSCBE—THI4EAS 233.94 6,410 70.7
AEE < HB—THI4ES 233.52 6,260 | it 70.6
AES<HA—THI6E2 264.66 /7,120 80.0
RIESCHLAE—THI6ES 208.26 5,750 62.9
HEE<HA—THI6E4 208.40 5,750 63.0
BESCHB—THI6%ES 208.48 5,750 63.0
L, |BEE<EETRIED 208.73 5,590 63.1
T 2BS <2 6—THIE 208.96 5,600 63.2
*CE BEE < HA—THI6%12 208.58 5,590 63.0
BIES < HBE—THI6%16 224.75 5,870 67.9
BIEE < HA—THI6ET 218.12 5,870 65.9
BIRSCHLBEZTH1%E3 224.02 5,420 67.7
ZEECHE-TH1&5 200.12 4,640 | & - S0 60.5
BIRSCLBEZTH1%&6 235.71 5,660 71.3
BIBSCLBEZTH1E7 251.84 6,040 76.1
BIRSCHLBEZTHIE7 207.24 5,060 62.6
ZEE(HAZTHEIEO 233.99 6,130 70.7
BIRSCHBEZTHIEIO 233.90 6,130 70.7




